
Lecture6
Eter4· nexti "random Forrests"

-> boosting/ensemble
-> Multilabel data , in particular

Ecoc

- Feature selection
-Activelearning .

-Feature aggregation/PCA ht(x) = score produced
-Features from similarity/TSNE by the weak learner.
- HW4 Cust probab , not class

·Chapter5: SVM + Kernels
prediction)

·Chapter 6 : advanced NN
- CNN - RecNN Vs Transformers
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·pariso: one bigtree with T splits - complexity = - (2)-
- overfit !
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take weightat add hel to
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Oh proper waihts , h() trump etc (see Adaboost details)
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Gradient
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Alternative derivation for GB Classification Ceasier, more practice
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